UNIT (4)
VOCABULARY

From a, b, ¢c and d choose the correct answer:

1-Changesin .................... can lead to natural disasters such as floods

and droughts.

a- climate b- proportion C- scarcity d- hurdle

2- The wind continued to ............. the sand dunes, changing their shape.
a- graze b- plant c- erode d- implement

3- The winterwas ..................... , with heavy snowfall and freezing
temperatures.
a- productive b- humid c- intrinsic d- harsh

4- Climate change is a major factor contributingto ..........................

around the world.

a- climate b- soil c- equator d- desertification
5- Allowing animals to ................ too much can damage the vegetation.
a- plant b- graze c- erode d- reclaim
6- Deforestationcan ...................... countless species that rely on trees
for habitat.
a- erode b- reclaim c- plant d- kill off
/- Irrigation techniques can help maintain .................. soil in dry regions.

a- harsh b- productive C- intrinsic d- unwarranted



8- In many countries, children make up alarge ..................... of the

population.
a- climate b- wildfire c- equator d- proportion
9- The government warned people about the ................... conditions on

the roads during the blizzard.
a- productive  b- treacherous c- intrinsic d- unwarranted
10- If farmers continue to .................. their land, future generations may
struggle to grow crops.
a- misbehave b- curtalil C- precipitate d- overcultivate
11- The roots of the plants spread deep into the ................... , searching

for water and nutrients.
a- climate b- equator c- soil d- flooding

12- Many animals lost their habitats as a result of the ................... that

swept through the forest.
a- wildfire b- paucity c- hurdle d- atmosphere

13- The sudden drop in temperature can .................... the formation of
ice on the roads.

a- kill off b- graze c- wash away d- precipitate



14- The government launched a program to convert ..................... land
into green spaces.
a- frigid b- treacherous c- unwarranted d- unproductive
15- The powerful floodwaters can easily .................... homes built too
close to the riverbank.

a- wash away b- graze c- plant d- implement

16- Scientists study the Earth's ....................... to understand climate
change and weather patterns.
a- proportion b- wildfire c- atmosphere d- desertification

17- Countries located along the ....................... typically experience a
tropical climate year-round.

a- soil b- equator C- proportion d- forecasting

18- The heavy rains caused severe ....................... in the low-lying
areas of the city.
a- flooding b- climate c- paucity d- spearhead
19- The desert is known forits .................. climate, with little rainfall
throughout the year.

a- intrinsic b- unwarranted c- productive d- arid



20- When children ................... , it's important for parents to address the
behaviour calmly.
a- graze b- erode c- kill off d- misbehave
21-Weather ...................... has become more accurate with advances
in technology.
a- hurdle b- forecasting Cc- soil d- wildfire
22-The ..o temperatures during winter can be harsh on both
people and animals.
a- frigid b- productive c- unwarranted d- unproductive
23- To combat climate change, we need to ....................... more trees
in urban areas.
a- Kill off b- precipitate c- erode d- plant
24- The school plansto .................... new teaching methods to improve
student engagement.
a- graze b- wash away c- kill off d- implement
25- The weatherwas .................. , making it feel much warmer than the
actual temperature.
a- humid b- productive c- unwarranted  d- unproductive
26- Thecityplansto ...................... the abandoned lot and turn it into a
community park.

a- reclaim b- erode c- kill off d- precipitate



Fill in the spaces with the suitable words from the list:

( prevailing — climate — paucity — increasingly — hurdle — curtail )
1- To succeed in business, you must be willing to jump over any ............

that comes your way.

2-The ................. of fresh water in the region has led to severe drought.
3- Many people are ..................... turning to online shopping nowadays.
4- The school implemented new policiesto ......................... bullying

among students.
O-The ..o economic conditions have led to increased
unemployment rates.

Fill in the spaces with the suitable words from the list:

(intrinsic — permanently — plant — prevail over — unwarranted —

preservation )

1-The .............. jealousy led to constant arguments between the couple.

2- In the end, love and compassion will always ...................... hatred.

3- They are workingonthe ........................ of endangered species in
the region.

4- He decided to ........cccvvvinennnn.. retire from his job after many years
of service.

5-Trustisal/an ................... element of any successful relationship.



GRAMMAR

From a, b, ¢ and d choose the correct answer:

1- She moved to the city ......... find a better job.
a- because b- so that
c- although d- to
2- They travelled abroad ............ experience a new culture.
a- in order to b- although
c- because d- so that
3- | couldn't sleep ................ the music was too loud.
a- so that b- because
c- although d- in order to
4- They canceled the game .................. the snow.
a- in order to b- because
c- because of d- although
5- Mismanagementisthereal ............... the company’s financial issues.
a- cause of b- in order to
c- so that d- because of
B his illness was poor diet and lack of exercise.
a- Because b- Although

c- So that d- The real cause of



7-lleftanote ................. my wife would know where | went.

a- so that b- because
c- although d- in order to
8- The teacher speaks slowly ................. everyone can understand him.
a- in order to b- lead to
c- because of d- so that
9- The team worked overtime, ...................... they finished the project

ahead of schedule.

a- in order to b- because of
c- in spite of d- with the result that
10- Overexposure to sunlightcan .................. skin damage.
a- lead to b- because
c- although d- in order to
11- Lack of exercise may ................. weight gain over time.
a- because of b- lead to
c- in spite of d- with the result that
12- o, he was afraid of heights, he decided to try skydiving.
a- In spite of b- Although

c- Because d- So that



13- his fear of heights, he decided to try skydiving.

a- In spite of b- Although
c- Because d- So that
14- | decided to take the job .......... the salary was lower than | expected.
a- in order to b- because
c- although d- so that

From a, b and choose the correct answer as required:

1- Although they practiced for weeks, they didn’t win the competition.
(Use: In spite of)
a- In spite of practicing for weeks, they didn’t win the competition.
b- In spite of they practiced for weeks, they didn’t win the competition.

c- In spite of they didn’t win the competition, they practiced for weeks.

2- They enjoyed the picnic in spite of the cold weather. (Use: although)
a- They enjoyed the picnic although of the cold weather.
b- They enjoyed the picnic although the cold weather.

c- They enjoyed the picnic although the weather was cold.



3- They decided to leave early because of heavy traffic.
(Use: because)
a- They decided to leave early because heavy traffic.
b- They decided to leave early because the traffic was heavy.

c- They decided to leave early because being heavy traffic.

4- The test was difficult. Most students passed. (Use: although)
a- Although the difficulty of the test, most students passed.
b- Although the difficult test, most students passed.

c- Although the test was difficult, most students passed.

5- In spite of (be) tired, she finished her project on time. (Correct)
a- In spite of being tired, she finished her project on time.
b- In spite of been tired, she finished her project on time.

c- In spite of was tired, she finished her project on time.



